Finding Three Quarters
Green

Match the statements to the correct answer.
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Use the digit cards to complete the statements. Use the models to

7 help you.
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Find and correct the errors in the statements below
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D. Three quarters of 14 is 12, @




Finding Three Quarters
Green

A=9;B=6,C=12
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There are 2 mistakes. A. 3/4 of 12=9;C. 3/4 of20=15

A. Three quarters of 12 =3 eoeo|oee
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D. Three quarters of 14 is 12, @




Finding Three Quarters
Yellow

Match the statements to the correct answer.
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Use the digit cards to complete the statements. Use the models to
help you.
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Find and correct the errors in the statements below

A. Three quarters of 16 = 8
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D. Three quarters of 24 is 8. O O O C




Finding Three Quarters
Yellow

A=15B=12;C=6
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A=20;B=9;C=24
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. There are 3 mistakes. A. 3/4 of 16 =12; C.15is 3/4 of20;D. 3/4 of 24 is
18.

A. Three quarters of 16 = 8

1 QOO0
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D. Three quarters of 24 is 8. O O O C




Finding Three Quarters
Red

Match the statements to the correct answer.
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A. Billy bought é oranges and 14 18
pears from the shop. Find 3 of
L the fruit. 4 ) —
B. [ Sara chose 19 daffodils and 5 | 15
tulips from the flower shop. Find
\ three quarters of the flowers. ) —
Yy
c. (" Tim chose 9 green apples and ) 12
Cara chose 7 red apples. Find =
| of the total number of apples. ™ ) —

Use the digit cards to complete the statements. Use the models to

help you.
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Find and correct the errors in the statements below

* Three quarters of
020 twenty is sixteen.
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Three quarters of 20
Yin is 5.

Jess




Finding Three Quarters
Red

A=15B=18;C=12

S
Billy bought é oranges and 14 18
pears from the shop. Find 3. of
. the fruit. 4 ) —
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Sara chose 19 daffodils and 5 15
tulips from the flower shop. Find
three quarters of the flowers. ) e/
S
Tim chose 9 green apples and ) 12
Cara chose 7 red apples. Find =
of the total number of apples. ™~ St

A=20;B=12;C=28,D=24
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There are 4 mistakes. Tara = three quarters of twenty is fifteen; Ah-
med = 3/4 of 8 = 6; Yin = eighteenis  3/4 of 24; Jess = three
quarters of 20 is 15.
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Three quarters of 20
Yin is 5.

Jess




